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Case I i Glad is a product of linear Factors
,

Some  of which are  repeated
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First
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Now
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Case III ! Qcx ) has  an  irreducible quadratic Factor

Ey I 2x2- dx
X ( x2t4 )

Goyt: 2×2 - x +4

¥+41
= ¥ t Bxtc

xD +4

2×2 - Xt 4 = Atx 't  41 t ( Bxtc ) x

= ( At B 1×2 t C x
t 4A

At B -
- 2

C = - I } ⇒
A =L

, B '

-
I

,
C = . ,

4A -

- 4



'

¥:÷÷÷÷÷÷÷÷÷÷÷÷÷÷i÷ii
in*t¥

- I are tan Hat t C

,

Ca : Aaa has repeated irreducible quadratics

Exe 2x2_
,

= ¥ + B×x¥y +
Dx

x I x 2+4 ) ( x 't  4)
2

-


